客观题答案：
1-5 ABCBB   6-10 ACAAB   11-15 BBBBD  16-20 BDDDB   21-25 BCAAA   26-30 ACACC
[bookmark: _GoBack]31-35 DBBA?  36-40 CACAC  41-45 CABDC  46-50: DCBBD  51-55 BADDB  56-60 BBADD  
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28. Speaker A: Do you mind if | change the channel? Speaker B: ___ (15)
A. Actually, | think this program is quite interesting.
) B. Never mind. Just go ahead.
C. Certainly. You can do what you like.

D. Yes, you can swiitch to the channel you want to watch.

29. You ____amosquito here, because the temperature is far below freezing and any mosquito here has been frozen to death. (153)
A. shall not have seen
B. must not have seen
C. can't have seen

D. need not have seen

30, His parents gave him many expensive toys as some form of ____for his lameness and inability to play active games. (15)
A. comfort
B. remedy
C. compensation

D. treatment
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34, Denis Doute thinks that __. (1)
A. the French government puts too little emphasis on the freight traffic
B. freight trains in United States often travel on separate tracks
. European govemments have much difficulty in improving the railway system

D. the surplus passenger trains should be changed into freight trains

35. The author's purpose of writing this passage isto . (1%3)
&) A. stimulate the public and the environmental groups to concern about the freight traffic
8. alert the European Commission to the consequence of the blind expansion
C. elaborate the freight trafic problems and their causes in Europe

D. appeal to the governments to invest more money in freight traffic
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For good or il globalization has become the economic buzz-word of the 1990s. National economies are undoubtedly becoming steadily more integrated as cross-border flows of trade, investment and financial capital increase. Consumers are buying more foreign goods, a growing number of firms now operat
& across national borders, and savers are investing more than ever before in far-flung places

Whether al of this s for good or il is a topic of heated debate. One positive view is that globalization is an unmixed blessing, with the potential to boost productivity and living standards everywhere. This is because a globally integrated economy can lead to a better division of labor betueen countries, allowin
9 low-wage countries to specialize in labor-intensive tasks while high-wage countries use workers in more productive ways. It wil allow firms to exploit bigger economies of scale. And with globalization, capital can be shifted to whatever country offers the most productive investment opportunities, not trappe
d at home financing projects with poor returns.

Criics of globalization take a gloomier view. They predict that increased competition from low-wage developing countries will destroy jobs and push down wages in today's ich economies. There will be a race to the bottom as countries reduce wages, taxes, welfare benefits and environmental controls to mak

& themselves more competitive. Pressure to compete will erode the ability of governments to set their own economic policies. The critic also worry about the increased power of financial markets to cause economic havoc, as in the European currency crises of 1992 and 1993, Mexico in 1994—1995 and South-E
ast Asia in 1997.

36. National economies are becoming more integrated as a result of ____ (1)
A. savers investing more in developed areas than in developing countries
8. many comparies estabishing new businesses
. increasing flowsof cross-border trads,investment and financial capital

D. more and more consumers going abroad to buy goods.

37. Globalization has the potential to boost productivity and iving standards everywhere because ____. (1%)
A it makes labors work in countries where they are most needed and best used
8. it encourages ich countries to provide more economic support to poor courtries
C. it enables low-vage counties to have more cross-border trade and investment.

D. it allows firms to establish more branches in low-viage countries

38, According to the positive view, globalization can__. (1)
A. cause capital o shift to countries where thereis greatest und shortage
8. hep low-wage countres get id of abor-intensive economy
. allow firms to exploit bigger economies of scale

D. allow low-wage countries to use workers in more productive ways.

39, As a result of globalization, al of the following might happen EXCEPT___. (153)
A compeitveness oflow-vage countries might weaken
8. environmentalproblems in some coutries might worsen
. economic havoc might occur in some parts of the word

D. unemployment rate in rich economies might increase.

40, The author of the passage holds a/an ___ attitude toward globalization. (1)
A. optimistic
5. pessimistic

C. objective
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61, Writing (40 pints) Directions: In this part, you are to write at least 80 words about the title * College Is a Time of Growth and Expansion”. (40 %)
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1. Speaker A: Excuse me, Mr. Smith, but are you free this evening? Speaker B: ___ (143)
A. I'm sorry, | have an appointment at seven.
B. Yes. Welcome to my home this evening.
C. Sorry, I don't like to be asked such a private question.

D. Well, I'm afraid whether | will be free or not has little to do with you.

2. He thought he could talk Mr. Robinson_____ buying some expensive equipment. (143)
A. round
B. into
C. on

D. of

3. The forecast predicted____ weathers with snow, sunshine, wind and thunder and that is just what we have had. (1 %)
A. differing
B. fluctuating
C. variable

D. various
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4, Today the public is much concerned about theway . (1 %)
! A. which nature is ruined
") B. nature s being ruined
/' C. of nature to be ruined

) D. on which to ruin nature

5. Ithas been revealed that some government leaders ____ their power to get illegal profits for themselves. (153)
! A. utilize
) B. abuse
) C. ignore

) D. apply

6. Speaker A: Next please! Hello, may | help you, sir? Speaker B: ___ (153)
! A. Yes.| want to send a registered airmail letter to Australia.
) B. I'd like to make an appointment with Dr. Smith.
) C. Hi, do you have a larger size of this shirt?

) D. May | have a look at the menu first?

7. Scientific evidence from different _____ demonstrates that in most humans the left hemi-sphere of the brain controls language. (1 53)
() A. scopes
() B. ranges
) C. disciplines

) D. arrays
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8. Speaker A May | see your driving license and vehicle registration card? Speaker B: __ (1)
") A. Sure.Did 1 do anything wrong?
B. OK But | was driving at 70 miles per hour.
€. Sorry, don't write me a ticket.

D. Yes. But don't think I'm a bad driver.

. This is an ideal site for a university itis far from the downtown area. (153)

A inthat
5. now that
T . sothat
D. provided that
10. Woman: Lots of people enjoy dancing, do you? Man: Believe it or not, that's the last thing I'd ever want to do. Question: What does the man mean? (1 %3)
A He won't dance until he has done his work.
8. He definitely does not like dancing.
) C. He admires those who dance.

D. He believes dancing is enjoyable.

11, Iceland lies far north in the Atiantic, with its northemmost tip actually ____ the Arctic circle. (155)
A. being touched
6. touching
7). touched

D. touches

12. Applied research, ___ to solve specific practical problems, has an immediate attractiveness because the results can be seen and enjoyed. (15)
A. obtained
B. undertaken
" C. attained

D. accomplished
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13, I admit there are problems, | don't think that they cannot be solved. (1)

A s
B. While
C. Unless

D. Until

14, ____conventional economic theories, Prof. Marcus warned that developing countries' excessive interest in labor-intensive production will undermine their potential of development in the long run. (1 53)
A. In addition to
B. In contrast to
C. With regard to

D. By contrast

15. Man: It was the third time Ranger had phoned me to say he had a new job. Woman: It's difficult to keep a young man in one job for life nowadays. Question: What does the woman mean? (1 53)

A. Young people are too eager to succeed.
B. Young people lose their jobs easily.
C. Young people are too quick in making decisions.

D. Young people seldom stay long on the same job.

16. Einstein's photoelectric theory then ____ scientists' appreciation of TV principles. But for his epoch-making theory, other scientists would have spent more years groping for it. (153)

A. gaveriseto
6. threw light on
C. brought into effect

D. led the way to

17. Speaker A: This exercise is really beyond me. Speaker 8: __ (1%)
A When did your teacher give you this math assignment?
B. Our math teacher is too hard on us.
C. When do you think you can work it out?

D. Why not come to me?
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18. A membership card authorizes __ the club’s facilities for a period of 12 months. (1)
A. the holder's use
6. the holder using
C. the holder uses.

D. the holder to use

19, Man: How about asking Judy to the picic next Sunday? Woman: Ask Judy? She's the one who's planning the whole thing. Question: What does the woman mean? (153)
A Judy has other plans next Sunday.
B. Judy has already been invited.
C. Judy won't be interested in the picnic.

D. Judy is the organizer of the picnic.

20, We should be able to do the job for you quickly, ____you give us all the necessary information. (1 53)
A incase
6. provided that
) C.oreke

. asif

21, The framework of the special theory of relativity can be constructed from the ____ of the absolute invariability of the speed of light. (153)
A. definition
B. assumption
<. regulation

D. conviction

22, If the ocean were free of ice, storm paths would move further north, ___ the plains of North America of rainfall. (153)
A. todeprive
B. deprived
C. depriving

D. deprive.
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23, The tendency today i for teachers and parents to emphasize individual responsibilty and to stress that educational goals for students should be ___ to their chosen vocations rather than provide a generaized higher education. (1%7)
A geared
& stimulated
€. developed
0. subjected
24, Woman: Do you mind closing the door? Our next door neighbors are making so much noise. Man: Do | mind? d be happy to. Question: What does the man mean? (1%3)
A. He's hapoy to close the door as the woman asks himto do.
8. He's not bothered by the noise.
€. He's hapoy to talk o thei neighbors.
. He prefrs o leave the door open.

25. You can call at the offce to___ yourlost property orsend in a witen description, but you canno telephone about . for we have not the staff avaable to deal with calls (1)
A caim
5. motgage
<. recover

D. locate.

26, Man 1 think it high time we tumed our attention to the danger of drunk driving now. Woman: | can't agree with you mre. You see, countiess innocent people are klled by drunk drivers each year. Question: What does the woman mean? (15)
. Pecple should pay more attention o the danger of drunk driving.
B Drunk driversare not gilty.
C. Most peopie kiled in traffc accidents are heavy drinkers.

. She doesnt agree with the man.

27. By the folowing semester,itis likely that the old professor ___ on the campus of Calfornia University for two decades. (1)
A will have to be teaching
B will have taught
. vill have been teaching

. wilbe teaching





